FUNCTIONAL

Rounding: nearest 10/100/1000 MATHS
1. 34 7. 9675
2. 57 8. 8765
S 3. 98 9. 23456
2
£ 4.978 10. 893467
2 5. 127 11. 1908972
6. 499 12. 17093452
1. 128 7.32678
2. 267 8. 71365
3
— 3.986 9. 48959
g 4, 7892 10. 345637
é 5. 2897 11. 8673956
6. 9289 12. 23074513
1. 8934 7. 233445
8 2. 7896 8. 56527
S 3.5087 9. 865409
B 492654 10. 999999
§ 5. 92943 11. 5633477
= 6. 666667 12. 85885908
1.  There are 25,000 people ata 2. Acarcosts £7,900 rounded to the
football match rounded to the nearest £100.
nearest 1000. What is the lowest possible
What is the maximum amount value of the car?
of people at the football match?




